
https://www.shop.lagunatools.com/PLAREVO1216-163-Clamp
https://www.shop.lagunatools.com/Lock-Handle
https://www.shop.lagunatools.com/Tool-Rest-Locking-Handle-for-REVO1216
https://www.shop.lagunatools.com/knockout-rod
https://www.shop.lagunatools.com/Knob-for-knockout-rod
https://www.shop.lagunatools.com/Live-Center-Assembly
https://www.shop.lagunatools.com/Quill
https://www.shop.lagunatools.com/Lead-Screw
https://www.shop.lagunatools.com/E-ring-E-12
https://www.shop.lagunatools.com/Lock-handle
https://www.shop.lagunatools.com/Tailstock-Locking-Handle
https://www.shop.lagunatools.com/Cap
https://www.shop.lagunatools.com/Stop-bolt
https://www.shop.lagunatools.com/handwheel
https://www.shop.lagunatools.com/Tailstock-Tool-Caddy
https://www.shop.lagunatools.com/PLAREVO1216-178-C-RING
https://www.shop.lagunatools.com/PLAREVO1216-179-Clamp-Bolt
https://www.shop.lagunatools.com/PLAREVO1216-181-Tailstock
https://www.shop.lagunatools.com/PLAREVO1216-163-Clamp
https://www.shop.lagunatools.com/Lock-Handle
https://www.shop.lagunatools.com/Tool-Rest-Locking-Handle-for-REVO1216
https://www.shop.lagunatools.com/Cap
https://www.shop.lagunatools.com/Live-Center-Assembly
https://www.shop.lagunatools.com/Quill
https://www.shop.lagunatools.com/Lead-Screw
https://www.shop.lagunatools.com/E-ring-E-12
https://www.shop.lagunatools.com/Tailstock-Locking-Handle
https://www.shop.lagunatools.com/Lock-handle
https://www.shop.lagunatools.com/Stop-bolt
https://www.shop.lagunatools.com/handwheel
https://www.shop.lagunatools.com/Tailstock-Tool-Caddy
https://www.shop.lagunatools.com/PLAREVO1216-178-C-RING
https://www.shop.lagunatools.com/PLAREVO1216-179-Clamp-Bolt
https://www.shop.lagunatools.com/PLAREVO1216-181-Tailstock
https://www.shop.lagunatools.com/knockout-rod
https://www.shop.lagunatools.com/Knob-for-knockout-rod
chriserbstoesser
Highlight

https://www.shop.lagunatools.com/REVO-1216-8-TOOL-REST
chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

chriserbstoesser
Highlight

https://www.shop.lagunatools.com/REVO-1216-8-TOOL-REST


Revo 1216 Headstock Assembly 

� 

Part Number Description Specification m - Part Number Description Specification 

PLAREVO1836-1140 Thimble 19 PLAREVO1216-119 Spring 

PLAREVO1836-124 Spur Center 20 PLAREVO1216-120 Window 

PLAREVO1836-1124 Set Screw M6x6 21 PLAREVO1216-121 Spring 

4 PLAREVO1216-104 3" Faceplate 22 PLAREVO1216-122 Upper Door Shaft 

PLAREVO1836-1101 Set Screw 1/4-20UNCx1/4 6 23 PLAREVO1216-123 Upper Door 

PLAREVO1216-106 Spindle 24 PLAREVO1836-1151 Magnet 2 

7 PLAREVO1216-107 Key 5x5x25 2 25 PLAREVO1836-103 Spring 

PLAREVO1216-108 Ball Bearing 6006LLU 26 PLAREVO1216-126 Spindle Lock Plunger 

PLAREVO1216-109 Magnetic ring 27 PLAREVO1836-132 Disc, Spindle Lock 

10 PLAREVO1216-110 Wave Washer 6202 28 PLAREVO1836-1141 Socket Flat Head Screw M3x8 

11 PLAREVO1216-111 Headstock 29 PLAREVO1836-191 C-Ring R22 

12 PLAREVO1216-112 Poly-V Belt PJ6-290 30 PLAREVO1216-130 Digital Readout Sensor 

13 PLAREVO1216-113 Spindle Pulley 31 PLAREVO1216-131 Digital Readout 

14 PLAREVO1836-184 Wave Washer 6205 32 PLAREVO1216-132 Phillips Flat Head Screw M3x6 4 

15 PLAREVO1216-115 Ball Bearing 6005LLU 33 PLAREVO1216-133 Control Panel 

16 PLAREVO1836-1119 Set Screw 1/4-20UNCx3/8 5 34 PLAREVO1216-134 Fwd/Rev Switch 

17 PLAREVO1216-117 Handwheel 35 PLAREVO1216-135 Socket Head Button Screw M3x20 2 

18 PLAREVO1216-118 INDEX-PIN 36 PLAREVO1216-136 Handle 2 

37 PLAREVO1836-170 ON/ OFF Switch 

38 PLAREVO1216-138 O-Ring P22 

39 PLAREVO1216-139 Speed Knob 

89 PLAREVO1216-189 Strain Relief 4K-4 3 

90 PLAREVO1216-190 Strain Relief 6P-4 3 

105 PLAREVO1216-1105 O-Ring 

106 PLAREVO1216-1106 Control Box P12 

110 PLAREVO1216-1110 Pan Head Self-Tapping Screw M3x8 2 

https://www.shop.lagunatools.com/Handwheel
https://www.shop.lagunatools.com/15-Ball-Bearing-6005LLU
https://www.shop.lagunatools.com/Spindle-pulley
https://www.shop.lagunatools.com/Poly-V-belt-PJ6-290
https://www.shop.lagunatools.com/9-Magnetic-ring
https://www.shop.lagunatools.com/8-Ball-Bearing-6006LLU
https://www.shop.lagunatools.com/Key-5x5x25
https://www.shop.lagunatools.com/Spindle
https://www.shop.lagunatools.com/3-Faceplate
https://www.shop.lagunatools.com/Handle
https://www.shop.lagunatools.com/FWD-REV-switch
https://www.shop.lagunatools.com/Control-Panel
https://www.shop.lagunatools.com/O-Ring_2
https://www.shop.lagunatools.com/Knob
https://www.shop.lagunatools.com/O-Ring
https://www.shop.lagunatools.com/Digital-Readout
https://www.shop.lagunatools.com/SPINDLE-LOCK-PLUNGER-ASSEMBLY-FOR-REVO1216S
https://www.shop.lagunatools.com/Upper-door
https://www.shop.lagunatools.com/Spring
https://www.shop.lagunatools.com/INDEX-PIN
https://www.shop.lagunatools.com/3-Faceplate
https://www.shop.lagunatools.com/Spindle
https://www.shop.lagunatools.com/Key-5x5x25
https://www.shop.lagunatools.com/8-Ball-Bearing-6006LLU
https://www.shop.lagunatools.com/9-Magnetic-ring
https://www.shop.lagunatools.com/Poly-V-belt-PJ6-290
https://www.shop.lagunatools.com/Spindle-pulley
https://www.shop.lagunatools.com/15-Ball-Bearing-6005LLU
https://www.shop.lagunatools.com/Handwheel
https://www.shop.lagunatools.com/INDEX-PIN
https://www.shop.lagunatools.com/Spring
https://www.shop.lagunatools.com/Upper-door
https://www.shop.lagunatools.com/SPINDLE-LOCK-PLUNGER-ASSEMBLY-FOR-REVO1216S
https://www.shop.lagunatools.com/Digital-readout-sensor
https://www.shop.lagunatools.com/Digital-Readout
https://www.shop.lagunatools.com/Control-Panel
https://www.shop.lagunatools.com/FWD-REV-switch
https://www.shop.lagunatools.com/Handle
https://www.shop.lagunatools.com/O-Ring_2
https://www.shop.lagunatools.com/Knob
https://www.shop.lagunatools.com/O-Ring


Revo 1216 Bed, Internals, Motor 

LP02 

Part Number Description Specification m Description 

PLAREVO1836-1101 Set Screw 1/4-20UNCx1/4 54 PLAREVO1216-154 Motor Pulley 

7 PLAREVO1216-107 Key 5x5x25 55 PLAREVO1216-155 Socket Head Cap Screw M5x15 4 

16 PLAREVO1836-1119 Set Screw 1/4-20UNCx3/8 56 PLAREVO1216-156 Motor Plate 

24 PLAREVO1836-1151 Magnet 57 PLAREVO1216-157 Carriage Bolt M8x30 

40 PLAREVO1216-140 Socket Head Cap Screw 3/8-16UNCx1" 58 PLAREVO1216-158 DC Motor 

41 PLAREVO1836-1115 Lock Washer 3/8" 58A PLAREVO1216-158A Magnetic ring 

42 PLAREVO1216-142 Lower Door Shaft 58B PLAREVO1216-158B Carbon brush 2 

43 PLAREVO1216-143 Nylon Insert Lock Nut 3/8-16UNC 58C PLAREVO1216-158C Motor Sensor 

44 PLAREVO1216-144 Lower Door 80 PLAREVO1216-180 Screw M4x15 2 

45 PLAREVO1216-145 CAM 82 PLAREVO1836-1153 Hex Nut M4x0.7 2 

46 PLAREVO1216-146 Link block 83 PLAREVO1216-183 Screw M4x20 2 

47 PLAREVO1216-147 Belt Tension Handle 84 PLAREVO1216-184 Cord Holder 2 

48 PLAREVO1216-148 Belt Tension Base 85 PLAREVO1216-185 Spacer 2 

49 PLAREVO1216-149 Bed 86 PLAREVO1216-186 Screw M5x15 4 

50 PLAREVO1216-150 Spring 87 PLAREVO1216-187 Control Box 

51 PLAREVO1216-151 Belt Tension Shaft 88 PLAREVO1216-188 Strain Relief 7P-2 

52 PLAREVO1836-1113 Flat Washer D8xD18x2t 89 PLAREVO1216-189 Strain Relief 4K-4 3 

53 PLAREVO1216-153 Nylon Insert Lock Nut MS 90 PLAREVO1216-190 Strain Relief 6P-4 3 

91 PLAREVO1216-191 Control board 

92 PLAREVO1216-192 Hex Nut #10-32UNF 2 

93 PLAREVO1216-193 Washer, Lock-Int. Tooth #10 2 

94 PLAREVO1216-194 Cover, Base-Control Box 

95 PLAREVO1216-195 Pan Head Self-Tapping Screw #8x1/2" 

96 PLAREVO1216-196 bushing 2 

97 PLAREVO1216-197 Screw #10-32UNFx1/2" 2 

98 PLAREVO1216-198 Flat Washer 3/8"x27x3t 4 

99 PLAREVO1216-199 Rubber Pad 4 

100 PLAREVO1216-1100 Socket Head Button Screw 3/8"-16UNCx1" 4 

101 PLAREVO1216-1101 Cord Holder 

108 PLAREVO1216-1108 Power Cord 

109 PLAREVO1216-1109 Control Cord 

https://www.shop.lagunatools.com/Lower-Door-Shaft
https://www.shop.lagunatools.com/PLAREVO1216-143-Nylon-Insert-Lock-Nut
https://www.shop.lagunatools.com/Lower-door
https://www.shop.lagunatools.com/flat-washer-3-8x27X3t
https://www.shop.lagunatools.com/Rubber-Pad
https://www.shop.lagunatools.com/Socket-button-screw-38-16UNCx1
https://www.shop.lagunatools.com/CAM
https://www.shop.lagunatools.com/Control-board
https://www.shop.lagunatools.com/Control-Box
https://www.shop.lagunatools.com/Motor-Pulley
https://www.shop.lagunatools.com/Motor-Plate
https://www.shop.lagunatools.com/DC-Motor
https://www.shop.lagunatools.com/Lower-Door-Shaft
https://www.shop.lagunatools.com/PLAREVO1216-143-Nylon-Insert-Lock-Nut
https://www.shop.lagunatools.com/Lower-door
https://www.shop.lagunatools.com/CAM
https://www.shop.lagunatools.com/Motor-Pulley
https://www.shop.lagunatools.com/Motor-Plate
https://www.shop.lagunatools.com/DC-Motor
https://www.shop.lagunatools.com/Motor-Sensor-Cord
https://www.shop.lagunatools.com/Control-Box
https://www.shop.lagunatools.com/Control-board
https://www.shop.lagunatools.com/flat-washer-3-8x27X3t
https://www.shop.lagunatools.com/Rubber-Pad
https://www.shop.lagunatools.com/Socket-button-screw-38-16UNCx1
chris
Highlight

chris
Highlight

chris
Highlight

https://www.shop.lagunatools.com/12-pin-cord


https://www.shop.lagunatools.com/Rubber-Bushing-D50
https://www.shop.lagunatools.com/Rubber-Bushing-D25
https://www.shop.lagunatools.com/Rubber-Bushing-D35
https://www.shop.lagunatools.com/Connect-Plate-3
https://www.shop.lagunatools.com/Connect-Plate-3
https://www.shop.lagunatools.com/Rubber-Bushing-D25
https://www.shop.lagunatools.com/Rubber-Bushing-D35
https://www.shop.lagunatools.com/Rubber-Bushing-D50



	Blank Page
	Blank Page
	Blank Page
	Blank Page
	Blank Page



